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1. Which of the following is a marine lichen ?
{A) Usnea sp. (B} Lecanore sp.

(C) Ramalinasp. (1) Caloplaca sp.

2.  Fouod reserve in Rhodophyta (Red algae) is :
(A) Florndean starch (B) Laminarian starch

(C) Glyoouen (D Procvanophycein starch

3. The capsole of moss capsule becomes inverted at maturity due to :
(A) weight (B} peristomal activity
(C) hyponasty (D) epinasty

4. Which one is the carliest land plant 7
(A) Cooksonia
(B} Rhwia
(C) Hornea

(DY Willigmsonia

3. The enzyme used for alcohol Tormation by fermentation is :
(A) Amylase : (B) Lipase
() Zymase (D) Invertase

6.  The no. of pollen grains in Pinus is 6, the chromosome no. in its endosperm after

fertiliration will be :
(A) 6 (B) 12
(=) 2 (1) 36
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7. Apicte of beet root and a flower is put in water separately. Water becomes purple in
case of beet root but is colouriess in the case of Mlower. It is because :
(A) inbeet root, anthocyanins are found in the cell sap which are waler soluble
(B) in flower, carotenoids are Fat soluble and found in chromoplasts and dio not come out 1 waler
(C) in flower, pigments arc fourd in cytoplasm while in beet root, prEmenis afe located in vecuoles
(D) Both(A)and B)

%. Green plants obtain energy from sun through chloroplasts. These cell organciles provide
energy by absorbing from the solar spectrum :
(A) Greenand blue colors (B) Violet and blue colors
(C) Violet and green colors (D) Green and red

9, New mitochondria originates from :
(A} ERorplasma meenibrane (B) de-novo origin
(<) Division of pre-existing mitochondria (13} Prokaryouc ongin

10. Poisons like cysnide inhibit Na~ cfflux and K * influx. The cffect is reversed by injection of
ATP. li shows that :
(A) Na'-K pumpoperales fully in cells
(B) ATPishydrolyzed by AT Pasc 1o release energy
(€} Energy forNa™ -K' pumpcomes from AP hvdrolysis
(D) ATPisacarrier protein

11. 'The most abundant protein on earthis :
(A) Kemtin (B} Rubisco .
(C) RuBF (17) Fibrinogen
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12. Atrihybrid cross is made between two yeasts with genotype AaBbhCe. What proportion of
the offsprings will be genotype aabbee ¢
(A) O (B) 1/4
(C) 116 (D) 1764

13. Pea plants with yellow round seeds are crossed with plants having green wrinkled seeds
(yellow and round traits are dominant). What will be the phenotypic ratio in F1
gencration ?

(A} 9 vellow round : 3 preen round @ 3 vellow wrinkled : 1 green wrinkled

(B)  Allvellow round

(€) Yellow round : green round : vellow wrinkled - green wrinkled in the ratioof 1 :1:1 - 1
(D) All green wrinkled

14. The no. of linkage groups in man s :
(A} 23 (B) 46
(C) 24 (D) 45

15, OFanormal couple, half of the sons are hemophilic and half of the davghters are carriers
(heternzygous). The gene for this disease in the couple are located on ;
(A} X-chromosome of both the parents (B) boththe x-chromosomes ol mother ,.
(C) only on one chromosome of mother (D) Yechromosome ol father

16. Enzymes called restrictive endonucleases are used in genetic engineering as molecular

(A) Tixativesto join DNA [ragments (B} scalpels to cut DNA at specific sites
(C) degraders to break up DNA (D} builders of DNA
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Saffron is obtained from which part of Cracus sativas plant ?
{A) Anthers (B) Stgma
(1) Root hair (1) Petals

Competition for water, minerals, light and space is most severe between two
i&) closcly related spe:;:it-s eccupying the same niche

(B} closely related species occupying different niches

(€'} unrelated species occupying same niche

(13} species ocoupying dillerent overlapping systems

During DNA replication, the term “leading strand™ is applicd to the one which always

replicates in : :
(A) 5 —» ¥ direction continuously (B) 5 — 3 direction discontinuously
(C) 3'—» 5 direction continuousty (B} 3 — 5 dircction discontinuously

Seat of synthesis and seat of action of Norigen ;
(A) Rootand leafl respectively

(B) Rootand shoot tip respectively

{C) Shoot tipand leaf respectively

(D)} Leafand shool lip respectively

In a short day plant flowering is induced by :

(A} long nights

(B) photoperiods less than 12 hours

(C) photoperiods shorter than initial value and uninterrupted long night
(D) shon photoperiods and interrupied long nights

Gibberellic acid has been successfully employed to induee NMowering in :
(A) shortday plants under long day conditions

(B) long day plants under short day conditions

{C) the day neotral plants

(D) all typesof plants
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23, Universal initinting codon is :
(A) GUA {B) UAG
(C) AUG (D) AAG

24. Lightest wood in the plant kingdom comes from :
{A) Quercus suber (B) Ochroma lagipus

{C) Erythring suberosa (D) Eucelypiuy globus

25. Heart rot of sugar beet is caused due to the deficiency of :
(A) Calowum (B) Potassium
(C) Borm (D) Iron

26. Most of the swollen part of Meshy root is eomprised by hypocotylin
(A) Rudish (B) Carrot
(C) Turmp (D) Beet

27. The example of leaf opposed stem tendrils is :
(AY Crcnrbito (B) Grape-vine

(CY Passiffora () Antigonon

28. The type of compound leaves in Corfander is

(A) Unipinnate (B) Bipinnate
(C) Tnpinnate (D} Decompound
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29, InAuostralian Acacia, the leaves arce modificd into
(A) Cladodes (B) Phylloclades
(C} Phyllodes (1) Tendrils

30, In Nepenthes, the pitcher is a modification of :
(A} Leaf buse {B) Petiole
(C) Lanusa (D) Supules

11. Raceme of Racemes is also termed as :
(A) Umbel (B3) Spudix
(C) Panicle (D} Corymb

12, The inflorescence in Euphorbia species is :
(A) Verticillaster (B} Cyathium
(C) Cymose head (1) Capitmium

33, The fruit of Litchiis :
(A} Succulentand single sceded
(B) Succulent and many seeded
(C) Dryand single seeded
(D) Dryand many secded

14. Censer mechanism for dispersal of seeds oceur in
(A) Poppy (B} Calotrapiy
(Y Soncine (DY Albizzia

35, Causal organism for the “Wart Disease of Potato’ is :
(A) Olpidium (B} Physoderma
(C) Swchyirivm (D) Urophlyctis
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